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Run 4336 quartetwise, Asyms0 (Raw): All
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Run 4336 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4336 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4336 quartetwise, Diffs0: All
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Run 4336 quartetwise, Diffs0: Beam ON, Laser ON

Run 4336 quartetwise, Diffs0: Beam OFF
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Run 4336 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 4336 quartetwise, NegHelAccO/NSamples0: All = Run 4336 quartetwise, NegHelAccO/NSamples0: Beam OFF
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Run 4336 quartetwise, PosHelAccO/NSamples0: All — Run 4336 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4336 quartetwise, SumsQ: All = Run 4336 quartetwise, Sums0: Beam OFF
_ quartetwize_summbD — quanelwise_beaml_surmmd
B Entries 3681 — Entries 0
— Mean 4917 — Mean 0
o560 [— Std Dev  2.149 — Std Dev 0
200 =
150 | —
100 — =
50— —
'D _I 1 | | 1 1 1 1 I | L | I I | | I I | | 1 1 1 | 1 1 1 1 B 1 1 1 :_
2 3 4 5 6 7 8 g —
PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso —
_IIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIII
Run 4336 quartetwise, Sums0: Beam ON, Laser ON Run 4336 quartetwise, Sums(: Beam ON, Laser OFF
quamstwisa baami las® summil quannstwisa baami lasl sumimil
— Entries 1119 | Entries 2562
40— Mearn 8133 100 — Mean 3.513
— Std Dev 0.3207 - Std Dev 0.3219
35— —
30 80—
25— B
- 60—
20 B
15 f— 40—
10— B
[ 20—
5 B
0 - [ I . 0o B l T e

7 7.5 B B.5 9 . 35 4.5
PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0



